T

£y 2 A
MESH 22X 4 R LK, mon »

vRAS 107 gax Bl

FHB GG B (1) (389
ZREFR]: 12 A 12 B % =%
« (FER T 5 5 105 4)

1.

10.

11.

12.

13.

14.

Show that 2* + 3z — sinz = 0 has at most one root.

Use the Mean Value Theorem to prove the inequality |sina — sinb| < |a — b| for all a and b.

2
T
Find the local maximum and minimum values of f(z) = | using the First Derivative Test.
x

F(z) =2V6 — x.
(a) Find the intervals of increase or decrease.
(b) Find the intervals of concavity and the inflection points.

2 -5

Find the horizontal asymptotes of the graph of the function f(z) = 1
T

Evaluate lim (V922 + = — 3x).

T—00

2
Evaluate / |22 — 1] dz.
0

4
Evaluate / V(1 +1t) dt.
1

. Evaluate / ( cos — 2sec? 9) do.

sin? 6

Find a function f and a number a such that 6 + / % dt = 2y/z for all z > 0.

7 7
Eval i E — 4+ — .
valuate nl_g)lo 2 (n5 + n2)

0
Evaluate i/ cos(t?) dt.
dx Nz

2
Evaluate / (x + V4 — 2?) dz.
0

n 1 Z 2
Evaluate li — /1= = .
Vauaeng&;n (n)



15. Sketch the graph of a function satisfies all of the given conditions.
(a) lim f(z)=2, lim f(z)=o00, lim f(z)= —o0, lim f(z)=—o0, lim f(z)= occ.
z—=Fo00 z—1t z—1— z——1+ z——1-

(b) f'(x) > 0 when z < 0(z # —1), f'(x) < 0 when z > 0(x # 1).
(c) z = 0 is the only critical number f(0) = 0.
(d) f"(x) <0 when || <1, f”(z) > 0 when |z| > 1.
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1 LS 3.2 — )% 27
2 | % 3.2 - HA 31
3 | The local max. is f(0) = 0, the local min. is f(2) =4 3.3— HA 16
4 | (a) F is increasing on (—oo, 4], decreasing on [4, 6]
(b) F is concave downward on (—o0,6), no inflection point. 3.3—FA4 39
5 y=1land y=—1 3.4 — 1|78 4"
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-2 44— B 31
8 5 H A
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